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Calculus
2.1 Average Rate of Change  name:
Recall: Rate of Change
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Example 1: Find the average rate of change of f(x) = x3 — 2x on the interval E,%]
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Example 2: The function h(k) = 3k? — k represents how long it takes Mr. Brust to clean

Brust has. What is the average rate it takes to clean his house if he has between 1 and 4 C' ' L’l

kids?
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Write your questions

and thoughts here!
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2.1 Average Rate of Change m

Example 3: Find the average rate of change for f(x) = x? — 4x + 1 on the interval
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GIOIDe of the Secant Line: ~
Given a function f, the equation for the slope of the secant line is
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